



Aコース

Bコース

Cコース

Dコース

⑦ $(x + \frac{1}{3})(x + \frac{1}{6})$

=
=
=
=

⑧ $(a - \frac{3}{4})(a + \frac{1}{2})$

=
=
=
=

⑨ $(x + 0.2)(x + 0.4)$

=
=
=

⑩ $(a + 3)(a - 1.2)$

=
=
=

⑪ $(a + 3b)(a + 2b)$

=
=
=

⑫ $(x - 3y)(x - 4y)$

=
=
=

⑦ $(x + \frac{1}{4})(x + \frac{1}{3})$

=
=
=
=

⑧ $(a - \frac{1}{5})(a - \frac{1}{2})$

=
=
=
=

⑨ $(x - 0.3)(x + 0.5)$

=
=
=

⑩ $(a - 0.1)(a + 6)$

=
=
=

⑪ $(a + 5b)(a - b)$

=
=
=

⑫ $(m + 9n)(m - 8n)$

=
=
=

⑦ $(2a + \frac{2}{3})(2a - \frac{1}{3})$

=
=
=
=

⑧ $(\frac{1}{2}x - 4)(\frac{1}{2}x + 8)$

=
=
=
=

⑨ $(ab + 3)(ab + 2)$

=
=
=

⑩ $(ab - 5)(ab - 1)$

=
=
=

⑪ $(xy + 6)(xy - 2)$

=
=
=

⑫ $(xy - 10z)(xy - 4z)$

=
=
=

⑦ $(3x + \frac{2}{5})(3x + \frac{5}{2})$

=
=
=
=

⑧ $(\frac{1}{5}a - 7b)(\frac{1}{5}a - 3b)$

=
=
=
=

⑨ $(ab + 2)(ab + 7)$

=
=
=

⑩ $(ab + 6)(ab - 8)$

=
=
=

⑪ $(6a - b)(6a + 5b)$

=
=
=

⑫ $(xy - 10z)(xy - 3z)$

=
=
=